
Right 

0 R --------------------------------------------------------------

Left 



IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY



1 x1 2 x1 3 x1

4 x2 5 6

7 8 x1 9

10

x1 x1

x1 x1

x1

-2-

11 x1 12 x2



13 x2 14 x1 15 x1

16 x2 17 18

19 20 x2 21

22

x1 x1

x1 x2

x1

-3-

23 x1 24 x2



25 x1 26 x1 27 x1

28 x1 29 30

31 32 x2 33

34

x1 x1

x1 x1

x1

-4-

35 x1 36 x1



37 x1

-5-

A

Qty:20+1

B

Qty:34+2

C

Qty:4+1

D

Qty:12+1

E

Qty:20+1

F

Qty:41+3

Qty:12+1

M5x50

Qty:2

G

Qty:1

H I

M6x50

M6x25

M6x28

M4x8M4x16

M6x10

38 x1
39 x1

40 41
x2

x2



J

Qty:8

K

Qty:4

L

Qty:2

M

Qty:10+1

N

Qty:8+1

O

Qty:2

-6-

Qty:2
Qty:1

P

Qty:2

Qty:1

Q R

Qty:1

S

M3.5x12

Make sure the pins are installed correctly
as shown with the"check mark" below

Below shows how the pins are used to assemble
 the panels together.

a b c

M3x14

M3x12



1

2

X 8

-7-

J

C

X 8

2

1

17

1

2

3

4

4

15

2

1

3

4

4

OR

J

Right

Left

J

J

J

J

J

J

J

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C



3

-8-

15

17

16

16

15

17

16

16

OR

Right

Left



4

-9-

C X 12

15

17

15

17

19

18

22

23

24

24

18

19

23

22

24

24

OR

Right

Left

47CM

47CM

47CM

47CM

47CM

47CM

47CM

47CM

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C



5

-10-

C

X 5

9

21

9

21

OR

Right

Left

C

C

C

C

C

C

C

C

C

C



6

-11-

X 8

F

27

26

27

26

OR

Right

Left

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F

F



7

-12-

C
X 5

10

11

10

11

9CM

9CM

OR

Right

Left

C

C

C

C

C

C

C

C

C

C



8

-13-

C
X 4

X 4

G

12

12

20

20

20

20

12

OR

Right

Left

C

C

C

C

C

C

C

C

G

G

G

G

G

G

G

G



9

-14-

D

X 8

X 10

F

X 4

E

5

6

5

6

28

25

29

29

28

25

OR

Right

Left

D

D

D

D

D

D

D

F

F

F

F

F

F

F

F

F

F

E

E

E

E

D

D

D

D

D

D

D

D

E

E

E

E

F

F

F

F

F

F

F

F

F

F

D



10

-15-

F

X 6

11

F

X 5

8

13

13

14

7

F

F

F

F

F

F

F

F

F

F

F



12

-16-

F
X 6

OR

Right

Left

F

F

F

F

F

F

F

F

F

F

F

F



13

-17-

A

X 4

14

A

X 4

33
34

33

34

35

B

X 4

a b c

A

A

A

A

A

A

A

A

B

B

B

B



15

-18-

16

31

30

A

X 16

A

X 8

B

X 8

30

32

32

O
X 2

a b c

O

O

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

B

B

B

B

B

B

B

B



17

-19-

H

X 2

18

36

37

38

S

X 2

S

S

H

H



19

-20-

K

X 8

20

A

X 8

B

X 8

L

X 4

31

31

a b c

K

K

K

K

K

K

K

K

L

L

L

L

B

B

B

B

B

B

B

B

A

A

A

A

A

A

A

A

36



21

-21-

I

X 1

22

39

39

39

39

G

X 4

I

G

G

G

G

40

40

41

41



23

-22-

N

X 2

R

X 1

OR

Right

Left

N

R

R

N



24

-23-

F

X6

D

X4 

OR

Right

Left

Tips：Two people lift it together，

      and put it down gently in right holes.

F

F

F
F

F

F

F

F

F

F

F
F

D

D

D

D

D

D

D

D



25

-24-

G
X 4

P

X 2

OR

Right

Left

P

P

G

G

G

G

G

G

G

G

P

P



26

-25-

M

X 5

Q

X 1

M

M

M

Q


	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型


